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| Semester 3 Year LL.B./V Semester 5 Year B.A. LL.B. (Maj.-Min. System)/
V Semester 5 Year B.A. LL.B./B.B.A. LL.B./B.Com. LL.B.
Examination, December 2019
CRIMINAL LAW - |
Indian Penal Code
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer question No. 9 and any 5 of the remaining
questions.

. Question No. 9 carries 20 marks and remaining question

carries 16 marks each.
. Answer should be written either in English or Kannada
completely.
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. “When a criminal act is done by several persons, it may be
construed to be done alone”. Discuss. Marks : 16
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Explain the nature and extent of an act done by the child in a
criminal offences. Marks : 16
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. Explain the law relating to abetment and state when an abetment
committed outside India is said to be a offence committed in
India. Marks : 16
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Q. No. 4. Explain wrongful restraint and wrongful confinement and state
the punishment of such offences. Marks : 16

S WoRS B LT TSwopED), ITOK DR B FINCR
QU SFODI) SPA.

o) B
Explain cheating. When does it becomes cheating by personation ? Marks : 16
TordSodm), DTOR. HordIcdn cdnmen TIRWFE ek
FowRoPYmnoZ s ?
Define theft. When theft becomes a Robbery ? Marks : 16
BYSITI, W 00R. cdnen IESY BoRedciRTZd ?

Explain briefly the offences relating to marriage. Marks : 16
&moﬁ"@ TotooDAToS ewo;dzfe;;ig‘ :icég{mn SO

Write short notes on any two of the following : Marks : 8x2=16
& NS cdnRyymemdn ada‘g O 8T WD :
a) Mens rea
STTRE SOV,
b) Criminal breach of trust
TC0E Jowd Cewm
c) Mischief
gord,

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20

ENSIYMHY, cRFmRwte ST TITANYRY, Wricox :

a) ‘A’ an officer of the court, on being ordered by the court to
arrest ‘B’ and after a due enquiry, believing ‘C’ as ‘B’ arrests
‘C'. What is the offence that ‘A" has committed ?
‘' odo T, IROCDT SHTOIRNGD, ss%ozno&bd :3:3@:5:4,:13‘
TORORYTOL, ‘o' oo wolTen ToomeniSs. Fo3T KR
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WORRLHS, ‘2’00 CIRS STTHIT, IRADT]E ?
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b) ‘A’ along with two women who happened to be the only
passengers on the boat was crossing the river which is
in-charge of ‘B' a boat men. While the boat was moored on
the river. ‘B’ left it with for some work. ‘A’ with the intention
of horrifying the two women unfastened the boat causing
the boat to lightly drift. Can the two women prosecute ‘A’
and if so what offence has ‘A’ committed ?
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‘X" a brahmin married Y’ who belonged to Vysha community
in the temple. Later he obtained a release from the wife
and marries ‘Z' from a brahmin community in the style of

ceremonies of brahmin community. Has ‘X’ committed any
offence ?
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| Semester 3 Year LL.B./V Semester 5 Year B.A.LL.B. (Maj.-Min.-System)/
V Semester 5 Year B.A.LL.B/B.B.A.LL.B.
Examination, June/July 2019
CRIMINAL LAW -1 : INDIAN PENAL CODE
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question. No. 9 and any 5 of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks.

3. Answers should be written in English or Kannada
completely.

. “A person can be held liable under Indian Penal Code for
committing an offence beyond the territory of India”.
Discuss.

E.SD,&O&)O
32
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. Explain the nature of mistake of fact and law and state the
exemption to a person from criminal liability.
WD 3P, FOF 1Y) DIRAT ), FUFD VTLANIS),
5.)..)02) TR w&) wécc:o SToROT BREPOFOOT
ifc"s‘rbévm

. Explain the ingredients of an offence for criminal conspiracy
with illustrations.
STRPE LBRD PUTCINMRY LERET BREROOT QWO

. What is Hurt ? Explain the circumstances under which hurt
becomes grevious hurt.
oD 0BT 7 cInE BBy EY mMolR) 26
MORTRNIZE DEOA.
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Q. No. 5. What is kidnapping from lawful guardianship and how does
it differ from abduction ?
EDBORRYT NOEBET> TR A

i w"g‘:s:ﬁa 9

Explain forgery and when a person is said to have made a
fake document ?
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Write short notes on any two of the following : Marks : 8x2=16
B NS cy)meTde add@; VT LTS WBCWO :

1) Actus Reus.
IR RS 7T,

2) Wrongful confinement.

) - o o ad
LER TSWOR.

3) Theft.

P -
5%5‘3@.

Solve any two of the following problems : Marks : 10x2=20
FNSYNYE, cIngymesden 0@ a;ﬁdtar{e:r% WRBORD :
a) ‘A’ being the father of 8 years old son butched him in
order to praise and propitiate a deity. Can ‘A’ plead a
defence of insanity ?
'’ 000 Q0D TREF BRI BoToIRAT, eI
LOAERY LD © SorbaR) WO . Sozd SSD,
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b) ‘A’ with other of his friends who intended of killing ‘B’ invities
him to a particular place in a pretext of resolving a long
standing dispute between them. ‘A’ with his friends soon
after ‘B’ and his friends reached the spot, they all killed them.
What offence ‘A’ has committed ?

‘& oo »s RgohdrodR Reddromd ‘oI RN
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A Haklm operated to patient on the eye with an ordinary

scissors and dressed the wound with the needle, thereby

causing a permanent damage to the eye of the patient. What

offence has the Hakim committed ?
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| Semester 3 Yr. LL.B./V Semester 5 Yr. B.A.LL.B. (Maj.-Min.)/V Semester
5 Yr. B.AA.LL.B./B.B.A.LL.B. (Old/New) Examination, December 2018
CRIMINAL LAW -
indian Penal Code

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each
3. Answer should be written either in English or in Kannada

completely

Explain the elements of crime Marks

Dt e wd 5 L o ) e o e <
e - WSS

Critically examine the defence of mistake of fact and mistake
of law.
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e D) N, & 22, SOTF 0000
oA o«

Define and distinguish between “Giving false evidence” and
“Fabrication of false evidence” Marks :

a0~
i T

s ingredients with recent developments.
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In all robbery there is either theft or extortion. Explain.
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Define forgery and making a false documents under Indian
Penal Code
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Q. No. 7. Explain the territorial and extra territorial jurisdiction of Indian
Penal Code. .16
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Q. No. 8. Write short notes on any two : Marks : 8x2=16

,45—«.—.—«.—4,. -..z.g.l oy TN 59 ol oy ARNE
\-Wl..-)w WilJe wuwﬁ oy Wt WOOWO

(a) Causing miscarriage.
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(b) Abetment.
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(c) Dishonestly.
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Q. No. 9. Solve any two of the following problems : Marks : 10x2=20

o e, ) e, sy s - i - tatenTatarve I R et T
) COJe))2TW0R T X,FULNTY. WNDOA.
o

(a) "A’ writes the University examination falsely representing
as ‘B'. What offences committed by ‘A’.

s ‘0?7 AT e = B
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‘A’ who is in love with ‘B’ takes her away from her parents
to marry. He presumes her to be 21 years old, but she is
only 17 years old. A has committed any offence.

' mdan DY Avdamda o 9 < o~
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‘A’ shakes his fcst at ‘B’ intending or knowing it to be likely
that he may thereby cause ‘B’ to believe that ‘A’ is about
to strike B. Whether A has committed any offence ?
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| Semester 3 Year LL.B./V Semester 5 Year B.A. LL.B./B.B.A. LL.B./
V Semester 5 Year B.A. LL.B. (Maj.-Min. System)
Examination, June/July 2018
CRIMINAL LAW - | (Indian Penal Code)

(Old/New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or in Kannada
completely.

- What is ‘mens rea’ ? State its significance in statutory offences.
Marks :
ilepinia =i Tnte]

. What is unlawful assembly ? When does it become rioting ?

BB ERLTFORTERD 7 olERn B BReWIRTHSE 9

. What is culpable homicide ? Explain under what circumstances
culpable homicide does not amount to murder ?

HVOIHT VOB, OWBED 2 o3RS ROBPFNYY ‘TmOE ST

BRY SO, gcwd;f\i QWOAD.
- Define rape. Discuss its ingredients with recent developments.

WORT Royipenad) morpand wdess JeStnrndsoan wud
PUDOINIR)  1edF 0.

. “In all robbery there is either theft or Extortion”. Explain.

“2g, WIRoD LToPNY, B avd WRB D [TE I,
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Q. No. 6. Explain the ingredients of the offence of ‘Michief with illustrations. Marks : 16

‘Bn3neE STTE DRHOINYRD)  LVTOTBTHBNILON WOXD.
) PO J,

L]

Q. No. 7. Define forgery and making a false document under Indian Penal
Code. Marks : 16

RHATS DB B BB SN w03 WB RokSoD
Y A7) 2L 0

Yol -0 Y

“@cmo TOLPAR.

Q. No. 8. Write short notes on any two : Marks : 8x2=16
O3RI)TTOR adczéé OFO 3D LOOW0 :

(a) Abetment
TR e
=

(b) Causing miscarriage

AV RIADIC AT Ble % W)

=

(c) House breaking

o Simﬁa@w

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20

FINSIHNTY, CIRPYTRTTR ITWE sdtari@ag LRBOXD

(a) ‘A’ shakes his fist at ‘B’, intending or knowing it to be likely
that he may thereby cause ‘B’ to believe that ‘A’ is about
to strike B. Whether A has committed any offence ?

' D'w A BrrdcdusHow Sowd ewokd BRET LTSN
T BB TN DO RogRRToIomd SPTe ‘¢’ T ‘W
R 33 § &aododo BEFAZS. ‘@' CINFTTEOR ST

o

&?@mjﬁ ¢ 9
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(b) ‘A’, a carrier is entrusted by ‘B’ witha television to be carried
by road. A dishonestly misappropriates the television. What
offence that A has committed ?

‘e QoW W) FoB IR ‘W D Sc'i aaomag
AR SRS, B3 ‘@D L) BTRPeTN
DORFAIRENDZS. ‘@' oINS BTG VRBRS ?

‘A’ says — “I do not believe what ‘B’ asserted at the trial
because | know him to be a man without veracity”. Is ‘A’
committed own offence ?

‘'R FOW NPTVBODY, ‘WD FReTOX BEYTOIHTR, ;O
SoroRRY, , 03REwT E ) ﬁ%d@d)d dazoe;‘%ﬁe o)
QOTH TSRS, 3R ‘D oIRREER 3 RREDERE ?
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Q. No. 6. Explain the ingredients of the offence of ‘cheating’ with illustrations. Marks : 16

[P .} P ytgmd i £ i e e, e sd T o % P &=
WOWR OV LTTIHT PEENTRD ITODUBNELODN DDOR,
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Q. No. 7. Explain in brief the offences relating to marriage. Marks : 16

T —r— - B oot d oo dend el Ot e, B Thedoy g
Wede T, ACWOLIAW TRT2DNTR0 A0THW2() wwOA0,
3

% WD

Q. No. 8. Write short notes on any two : Marks : 2x8=16

v — e - et
O.AJQ%L-JL LOR o

$ 4=l
wWOWT, 5009
v o

WBOW0:
(a) Accident.
”Jﬁ»))ﬁ)

(b) Dowry death.

e’ 2 ‘ot
JOTEEE Ao

(c) Criminal trespass.
LOWODHT 8T LS.

Solve any two of the following problems : Marks : 2x10=20
FINSIYNYY. cIRFHTER FTH FFoenTRD wiiEord:
(a) ‘A’ intending to permanent by disfigure B's face gives ‘B’ a
blow which does not permanently disfigure B's face, but
causes ‘B’ to suffer a severe bodily pain for 20 days. Discuss
the liability of ‘A'.
PR WT 00T, WIZN AULTARYROT NS0
‘WA WoW QU VR . ©Ddom ‘W'T 0D
NOATMAAVRDOY. HTT ‘W 20 SeTTRL T

=2 o oudida  Gamdnnw Pyt e adaagded b gtd B\ T T A dnedn ndn Y8 5
(FIDNNINS TN LA LTl 1._-?;‘»4. D0 DRBMNIOTOIDDD IWF AD.
“

‘Al incites a dog to spriné upon ‘B" without ‘B's consent with
an intention to cause fear to ‘B’. Whether ‘A" has committed
any offence ? Give reasons ?

NSO el PD e €3 end e ol )
WOIPBNN DWOTCOROLR[RBOW
boiliada S =g =l
OO OV VY UURAINOY
Cantmdn . Aailvosved sire sl o Berea ) =
OV Ol o)) LWolollo :f:-.‘u:/u'u NP

0N ERB.

‘A’ threatens to publish a defamatory libel concerning ‘B’
unless ‘B’ gives him money. Whether ‘A’ has committed any
offence ?
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First Semester 3 Year LL.B./V Semester 5 Year B.A.LL.B.
(Maj-Min.System)/V Semester 5 Year B.B.A.LL.B. (New)
Examination, June/July 2017
CRIMINAL LAW — | : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q.No. 9 and any five of the remaining questions.
TB Fosd, 9IS LVWT CIRFe WX Tnient YuZor.

. Q.No.9 carries 20 marks and the remaining questions carry
16 markseach.
BB 9 8 20 woInidd B VIO ZBnen 16 wosnsd.

. Answer should be written either in english or in kannada
completely.
crogdda’% Rogpearsn QONTE eEm INBOD, Bodedes.

“The intent and the act must concur to constitute a crime’.
Comment. Marks :

‘TG PR emtf&ea’mﬁ_g ge [EORE RVWALEBY. WFLFAD.

Explain the different kinds of punishments provided under the
Indian Penal Code. Marks :

R0EE Bor oS0 SRODY), VBB VG WEOH BN,
DTWORD.

Explain the provisions relating to the offence of abatement.
cbas’gdfs DOV BTOGE, ROLOTITE mwwoqﬁﬁ@:&_‘ DWORD.

What is giving false evidence ? Explain the provisions

relating to the offence of fabricating false evidence.

Rosly, o8, RV oTTed ? B, W R&g0rag ROLIOTTE,
e:wwodﬁ#Q DROXY.
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Q. No. 5. Explain the provisions of the offences of causing of miscarriage,
injuries to unborn children, exposure of infants and concealment
of births. Marks : 16

nyirees, nulrs 3%ar wuotdRRES mod, donen emod
D) HRINGD LSRN UToIPHTR) B0 er@'uodﬁé‘«i.l DWOXO.
- < ? 9

Explain the provisions relating to the offence of criminal
misappropriation of property and criminal breach of trust. Marks : 16

R ES STo0E THRFA0dRR 33 STo0E DT A7 qumfﬁi

»! -y ‘v’
\wrdn 4 oI .
B0Z LT D00,
|

Explain the provisions relating to the offence of counterfeiting
of coins and Government stamps. Marks : 16

JVE, T TOTO oY IeOeIT ewm,diﬁ ROUOTTES.
o - o e

A=I0y A mrdemdaded s & e a8 M
YORWODNPA 0D,
«*{

short notes on any two. Marks : 2x8=16

(b)
T B

(c) Insanity.

TRINE QLS.
Solve any two of the following problems. Marks : 2x10=20
BINSINYE cnPmeade oEd gifdran’@?ia WDOR,

(@) ‘A’, a soldier fires on a mob by the order of his superior
officer. Decide what type of offence ‘A’ committed. Give

VOO0 HTeITo =I0 MrodT Doees
‘R BIREI e;’dozz_jdag SeRFAVD. TT
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(b) ‘A’ a doctor in good faith, communicates to a patient his

opinion, that he cannot live. Patient dies by shock. Explain
the offence of ‘A’.

‘& W) %:% 290D TVRVOT, BREN BP0 ADle Vo)
3 BReAT SLATR. Fa3R0r Boeh :%sa’up ‘D SRICD
Codeplatas) QTORD.

‘A’ cuts down a tree on ‘B's land dishonestly without B's
consent. Decide the offence of ‘A’.

o 03> BRITISONOT  BT,WREITION &' 030 ‘@ o
RRDObORR o0, SRR, 'S RRATT ST
SeRIEIRD.
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First Semester 3 Year LL.B. / Fifth Semester 5 Year B.A, LL.B.
(Maj. — Min. System) / B.B.A. LL.B. (New) Examination, December 2016
CRIMINAL LAW — |
Indian Penal Code

Duration : 3 Hours Max. Marks : 1C0

Instructions: 1. Answer Q. No.9 andany five of the remaining questions.

=5 2. Y AR NS = A Ry | A s S5 ST TS o8
D A0S0, OB YLTT CORPYTC VTR SINTIN L"J:'f\)»v.

0. No.9 carries 20 marks and remaining questions carries
16 marks each.

- < B b= % Pt et ot 5 @) e 4
o3k F 20 L0580 &0 QVEE JINET 16 eoFTecozm.
= ' 3 - -

_ Answers should be written either in English or Kannada
completely.

s = elad amf oLt B T e
B ONGY VONEY LT FeBRRO, LWOOCLIWITY.
: ~ 0 -

Explain the territorial jurisdiction of the Indian Penal Code with
exceptions.

0 = =
~ I

When does the Right of private defence extends to causing of
death 7

e, D NS PR ) -l | 5y el S p— P

P v e et ol 1y e f . o R e T T T T

. DRV ~NOWrE WY e, A DRI RS L
- n! X -

NN Y VOO N
BRTDTWeIT Svebc e ?

What is unlawful assembly ? When does it become rioting ? Marks :

P o L Y et pda ) A —rd  Catw == e A A =
R BRR[OTTER) 7 CIRTHN B WROVAIRNAIT ?

What is culpable homicide ? When does it become murder ?

OOty 00 TCUWIVOW

s RS e ! Bt ¢ o e, e, 7 dn 2 R e e e
BR0DT V0DS, ORU2 7 0 B0 TRECIRMN 9

Discuss the provisions relating to offences against religion. Marks :

s — 7w, e e, o S 28 i e Ve it b e ety 3 ) e g e n 2S5
FRFE DT LTROIDNEN ROWCRAT YULICHNT 2323 0.
3 o ;

Explain the punishment of death sentence with relevantcases. Marks: 16

. - e e, B e ed O e e G e P (e £
20 ToRRoD STO) ARFOS R FOLAINTBOLN
o 5 5
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Q. No. 7. Explain the provisions relating to the offence of rape with relevant
Marks : 16

Bt irea el o an \ASerd PP AT Redadedn  =dasay _«.4..1,. 4
BROTT, AOWCTHE, OETRICT \‘.f».A.. WO, J|/TOE N

Write short notes on any two ; Marks : 2x8=16

el o, g oy

VJJ.J\A)\WV \.v\)a( o] ﬁg v.w‘./

a)

St

b) Causation
FODFBOLD

c) Conspiracy.

5 etTimoa
WY AV,

Solve any two of the following problems : Marks : 2x10=20

N el e el wd SN 05 Y, ST S N
FENS CORWTRRTR K0 LTOLNT WNBOR

a) ‘A'an officer of justice, being ordered by that court to arrest
‘B' and after due enquiry believing ‘C’ to be ‘B' arrests ‘C'.
Decide the liability of ‘A’

. » — . C PR 5 - - o — —-' Js—
~' 8 on 23 As AN e gy e ~F
W Wid odg v)\lvu eI CLCL SO0,
s dc

U
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‘A’ and 'B’ agree to fence lawfully with each other for
amusement. During the play 'B’ suffered injury. Has ‘A’
committed any offence ? Decide.

§ al cdnsds ‘00 ecdidadud - ©
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‘A’ finds a valuable ring, not knowing to whom it belongs. ‘A’
sold it. Decide the offence committed by ‘A'.
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